
SAP ABAP table T71LV3 {Life event vesting}

T71LV3

MANDT [CLNT (3)]

CAREA [CHAR (2)]

AWARD [CHAR (4)]

LETYP [CHAR (4)]

VRULE [CHAR (4)]

TUNIT [CHAR (3)]

T000

MANDT [CLNT (3)]
 T71LV3-MANDT = T000-MANDT 

0..N

1

T538A

MANDT [CLNT (3)]

ZEINH [CHAR (3)]
 T71LV3-TUNIT = T538A-ZEINH 0..N

1

T71C3

MANDT [CLNT (3)]

CAREA [CHAR (2)]
 T71LV3-CAREA = T71C3-CAREA 

0..N

1

T71LB1

MANDT [CLNT (3)]

AWARD [CHAR (4)]

 T71LV3-AWARD = T71LB1-AWARD 

0..N

1

T71LL1

MANDT [CLNT (3)]

LETYP [CHAR (4)]

 T71LV3-LETYP = T71LL1-LETYP 

0..N

1

T71LV1

MANDT [CLNT (3)]

VRULE [CHAR (4)]

 T71LV3-VRULE = T71LV1-VRULE 

0..N

1


